o Vo, Lo-Daten uy=(A — 550) / 5
Zapfenempfindlichkeiten log ,=-0,35y-u ]2

logVlg=—0,35lu)—Uu:.]
o Mo, Lo logL o=—0,35[)~Us/d°

0 0 “o Lo, oDaten uy=(\ - 550) / 50
log ©=-0,35uy-u ]2  logo=-0,350-u - ]°
log 0=-0,35l-u ]2  loglLo=—0,35[Usq?
log ¢=-0,35[u)-u 12

o 0 0 LO: (o]

570
1,0
o} o} LO LO
Schwelle Schwelle

0,51 t:=0,03 i t4=0,03
003 L 1 3 W 3 3w

400 500 600 700 A/nm ( 700 A/nm
EG501-1A EG501-2A

lo-Daten uy=(\ — 550) / 50 . lo.  Ye-Daten uy=(\ — 550) / 50
=( ot o2 log 6=-0,35k-u ]2 =( o+ Co)f2 log 0=-0,35k-u 12
o="1/046 log  0=-0,35\-u ]? o="1/046 log 0=-0,35[\-u ]2
lo» “I=5 ‘o “0y Go log©0=-0,35u\-u ]2 B, Bla, ( -Bja-B: log©0=-0,35u)\-u ]2
Ly Adaptation: A = a2 Ay 52( Adaptation: A =
. | maximum 0.51 maximum
© 10g(" -m)=-0.3 1 log(~ - m)=-0.3
m=0,46 S N\ m=0,46
Schwelle \ ’ N Schwelle
0, t=0,03 ~ =003 T
0.0[-3 il il 3w 3

700 A/nm 700 A/nm

u=(A — 550) / 50 u=(A - 550) / 50
=( ot Lo)2 log - 0=-0,35y-u ]2 =( o+ Lo)i2 log - 0=-0,35y-u ]2
0=C 10,46 log o=-0,35[uy-u. - ]? o=C 10,46 log o =-0,35[uy~u ]2
o, o olo IogLo=—0,35[J)\—u5m]2 . ‘“laRe ‘la logLo=-0,35u)— u570]
570G Adaptation: A = 570 Adaptation: A (=
10 maximum 93r = 7N\ maximum
1 o og(C m=-03
m=0,46
Y e ree
00f-3 =il 3w 1 3y

700 A/nm ( i 700 A/nm

EG501-6A
uy=(\ - 550) / 50 L Lo Ye, — -Daten uy=(\ — 550) / 50
L =(Co+ o)f2 log©o=-0,35[u\~u--]” L =("o+ o)/2 log o =-0,35[1~u- ]2
Lo=L /0,46 logLo=-0,35Uy~Us7q? Lipo=L /0,46 logL o =—0,35[y~Us7q?

o I Gt 5 Iog 0=-0,35-u 12 Ye=Lo-L , =L -Lo log ¢=-0,35uy-u ]2
20 If 70?5 Adap.: A =570 0 570 _ . Adap.:A. =570
! |_| : “ maximum 0.2 Lieé” ¥y maximum
1 © \ Iog(L m)=-0,3 1 ’ s log(L -m)=-0,3
\ m=0,46 2 M. m=0,46
X! Schwelle ; ? Scl-welle_

[F=ca

O e_003
1 SO
.-—:’:" R

Yie=Lo-L L Lo
0.0f-3 -1 1 3

; Uy g A 1 3 U,
400 500 600 700 A/nm ( i 600

EG501-7A EG501-8A

\

700 A/nm




